1.

RE7FAN ZABH MNRAR - THANOIRAEFA o1
KOMNEZ L. (Sih25y, Ak35330%, Biks55 308, C#k74r)
sin (a + ) = sinacos 8+ cosasinf @

(1) ke . . )
sin (a — ) = sinacos 8 — cosasinf @
ZHWT, BOAR sinacosB ZRD L.

(2) sin2x +sin3z =0 % 0 < z < 27 IZDOWTHEIT.
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2.

ROMNICEZ L. (SHh25, A3 30%, Bf5 3308, C#74)

(1) I B {cos(oz—|—ﬁ):cosozcosﬁ—sinasin,b’ O

cos (a— f8) = cosacos 8 +sinasin @

ZRAWT, ORI sinasinB Z3RKd k.

(2)  cosbr+cos3z=0% 0Lz <7 ITDOWTHRET.
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1. XROMICEZX. (SHh2y, A3530%, BS54 308, C#&74)

* MHIADR (F-MEOA)

sinacos 8 = % {sin (a 4+ B3) + sin (¢ — 3)}
PR, 25T, FHHbl

@a=208=3) #E=t="+1)
cosacosf3 = % {cos (a+ B) + cos (a — B3)}
Ty Iy, S, CFoTT I vEiINg

(77 =79 A)

sinasin 8 = —% {cos (a + B) — cos (a — B3)}
vreA, kS, CAEGT

KD AT,
Y¢ cosasin B IZDWTIE, sinacosB DARZAVIUL X v, KTE

Y 3C DR THEHY) Z 3D 5.

(1)

sin (¢ 4+ 3) = sinacos 3 + cos asin

© 6

I B { ) ) ]
sin (w — B) = sinacos 8 — cosasin 8
ZHWT, ORI sinacosf 2R k.

O+@ &0,
sin (o + 8) +sin (a — §) = 2sinacos 8
< sinacosf = %{Sin(a—kﬂ) + sin (o — B8)}

FZDEHGEERZTEITE, BOAREENZ2 .
Ya+B8=A, a—f=B & A+B75_ 23
:@@ﬁﬁ:@mﬁ%ﬁkﬁmﬁ)mﬁﬁf%%T6

sin2z +sin3x =0 % 0 < o < 27 IZDWTEL

J R R By iR

sin3x +sin2x =0
337—5295 cos 3x;2x
%5 T _

sin ==~ cos = =
2 2

. d5r T _
smT—OR&i cos 5 =0

< 2sin
&

&

& %:mwﬂti%:%”m:t% (m,n \ZEEH)

0<z<2r &0,

5x 2 4 6 8
- = = = = = 2
$2 mm rz=0, 571', 571', 571', 571'
= _— = =
5 =onm+ L 5 rT=Tm
- 2 4 6 8
%K. :B=0, gﬂ', gﬂ',ﬂ', Eﬂ', Eﬂ'

© $2f - HE R L0

sin A + sin B

sin A — sin B

cos A + cos B

cos A — cos B

=0 /e E 7

ZARY MRAN - RNAXOERAEHA o1

a+p=A4,
1(2) @ & 9 e TR EMHMED .

* IBRAR (ME-BOLR)

2sin

2 cos

—2sin

A+ B A—B

2 2

A4+ B A—B

a—B=B 8}
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ROMNICEZ L. (SHh25, A3 30%, Bf5 3308, C#74)

(1) I B cos (a+ f8) = cosacos f —sinasin @
cos (a— f8) = cosacos 8 +sinasin @

ZRAWT, ORI sinasinB Z3RKd k.

®_® c]: ba
cos(a+ ) —cos(a— ) = —2sinasin 8
< sinasing = —%{cos(a—i—ﬁ) —cos (a— B)}

(2)  cosbr+cos3z=0% 0Lz <7 ITOWTHREIT.

F R KBy iR

cosbxr + cos3x =0
2 cos 2% ; 3% (o T ; 3 _p I LN D RN ZE A7

cosdxrcosxz =0
cosdx =0 XlF cosz =0

4x:2m7r:|:% Xbixz?mr:l:% (m,n \XEEH)

s ¢ ¢

0<z<2r &0,

dx = L s QS
T 2m7r:|:2 T 8,87r,87r,87r
x:2n77:|:%=>x:%

- T 3 T 5 7
BR ey yTy s ™"
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